N = 0l & At & Ml A

20143 & =04 LBHSIH AL 2 TH
M AL
M HE2GFU (AL L)
Sel: o2y (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
FaR=RipN I 30,425,056 28,872,089 1,552,967
2 7,655,000
& 5,437,806
=2 10,000
< 299,000
s 17,023,250
HE2IAZH (AL L) 160,458 150,653 9,805
ol 2d | 98,324 87,856 10,468
ol Al 98,324 87,856 10,468
101 @124l 94,124 83,656 10,468
01 2 83,680 74,518 9,162
OANZA2RY FHE(20F) 19,204
— 5= 11,3643 x 1 x10A| 2k 128 1,364
— 6= 9,692& *7H *10Al 2tx 128 8,142
—7= 8,754 x5 x10Al 2tx 123 5,253
— 8= 7,860 «2ZF *10Al 2tx 128 1,887
— 9= 7,104 «3H «10Al 2t+ 12 2,558
O=l22a4 8,955% «20H *30Al 2tx12& 64,476
02 JIEt A2+ 10,444 9,138 1,306
OXRZE(3Y) 10,444
—ANZAAZ R+ (FHZ)
7,252 3 «10Al 2t <12 2,611
—=U2FRE 7,252 *3H *30Al 2tx 128 7,833
203 YR F&H| 4,200 4,200 0
04 EMNSIHRF=EHI 4,200 4,200 0
OFN 298 gRF2H 350,000& 128 4,200
Jl=234l 62,134 62,797 A 663
o2l 62, 134 62,797 663
201 £B-2dH| 41,694 42,357 A 663
01 AtR 22| 40,033 39,281 752
SETIES =TI B TPV 19,423
oS ANy 20,610
02 3323l 1,661 3,076 21,415
OAMS4 thet AZH] 1,384 %104 »120 1,661
202 oddl 20,440 20,440 0
01 2404l 20,440 20,440 0
O30 (ZLH) 14,680
O=2udobl(22) 5,760
sSHEXNS e 12,362,843 14,273,628 A 1,910,785
= 210,000
& 5,437,806
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2N
X ZH -
L= B

el

rag=R=p\ i
SHEXS Hg

Sl E ALY

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 10,000
< 299,000
e 6,406,037
=Y IIBHEHI ALY 5,278,324 8,573,142 23,294,818
= 210,000
2 1,813,000
& 10,000
< 58,000
[ 3,187,324
JIAHSB 22 E 649,000 497,000 152,000
& 454,000
< 58,000
e 137,000
401 Al HIZ 2018 649,000 497,000 152,000
& 454,000
< 58,000
e 137,000
01 A& HI 644,936 497,000 147,936
OJIAstEHZ T Z AN 644,936
& 449,936
< 58,000
s 137,000
03 AIE 2 THHI 4,064 0 4,064
OJIASHE &2 8 L &AL
644,943,000& *0.63% 4,064
& 4,064
Bt ESE AR DA (RHA) 1,729,324 1,318,285 411,039
201 Let249] 48,940 78,990 30,050
01 At 22/l 38,440 47,220 A 8,780
OsXELSE IR & Xl ===
15,000& 1004 1,500
O0EEI EE =2 15,000& »400AH 6,000
OEti==2&Hdl &EEIX= 500,000 402 20,000
Osgslg2d =2 I M2
109,400& 1003 10,940
02 =24l 10,500 31,770 A21,270
O2H==ZHIIAIER 300,000& =12& 3,600
OL+T FIIHE Haiaag
150,000 & »7& *20 A& 2,100
OBstoi T2 2 ==J| KX 2t 80,000& »60CH 4,800
401 AIEHI L 2 CHYI 1,680,384 1,225,000 455,384
01 A& HI 1,675,254 1,225,000 450,254
=l AIEHE =+ 80,000
O=sgs2d XM 5,000,000 *54 & 25,000
Og XM |2 30,000
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PN AL ST

g sOHEXY HE

©: sIIBEHIALY (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS

OELEXF =22 |A2c 120,000
O+ ti=22 S X 2el 50,000
OUEXF ti+=2& s 2el 100,000
OzZEX= =22 |FX2ea 50,000
OgaX= =22 sX 22l 70,000

=clH 2SN ALY 20,000 0 20,000
& 10,000
a 10,000

307 glz2+ol & 20,000 0 20,000
= 10,000
i 10,000

02 QIAHFAEXRS 20,000 0 20,000
OxclHS2E X3 A 20,000
= 10,000
s 10,000

HEHATHXI SN 1,941,000 0 1,941,000
& 1,359,000
[ia 582,000

403 X EHHS K201 A 1,941,000 0 1,941,000
2 1,359,000
[ia 582,000

02 S| 2SO0l CH&HCH & A Bl 1,941,000 0 1,941,000
OYEHATX SI| 20 A HI 1,941,000
& 1,359,000
a 582,000

THoH R & M==X HHAE 315,000 0 315,000
= 210,000
= 105,000

401 A& HIZ 201 Y| 315,000 0 315,000
= 210,000
= 105,000

01 A& HI 311,998 0 311,998
OMASE ==X (SSHM) Ul ALY 311,998
= 206,998
[ia 105,000

03 A2 2 0HHI 3,002 0 3,002
OIS H+R(SSH) Ul AL 3,002
= 3,002

sHEMaEH E | 3,980,719 2,892,000 1,088,719
& 1,720,806
s 2,259,913

=2 X7 SEHNISE 127,071 0 127,071

101 1Al 7,779 0 7,779

01 2= 7,779 0 7,779
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PN AL ST
g sOHEXY HE

Sl SOEMEHBIY (S &2)
- RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OSZH o222 42 7803 x2H x90 7,701
Ot EE =2 7,701,000 *1% 78
201 LBt | 41,292 0 41,292
01 AP 22| d| 10,000 0 10,000
OS2 X7 HOIZEY X2 10,000
02 222%4| 31,292 0 31,292
OEZHIOIZ2Y dIIAIE=2 2,000,000& ~12& 24,000
OEZHOZ2Y EEBXMAZ HEIAES
200,000 x12& 2,400
=2 HOIZ2Y EETAIS H=H
1,384 %204 *90L 2,492
OSXHOZEY EEMAIS SFEHAADES
100,000& »12& 1,200
OZZHDZ2Y EETAIZ &2 H|
100,000& »12& 1,200
206 M = Hl 11,000 0 11,000
01 X2 H| 11,000 0 11,000
OE2HOZ2E H 2 & AdHAIE 2| 2,000
OeatAZEga 2 A JJZgMI| 2
el 1,000,000 =3CH 3,000
OS2HDNs& 20l XEI| 2
6,000,000& = 1CH 6,000
401 AIEHIZL 2 0HY| 67,000 0 67,000
01 Al&EH| 67,000 0 67,000
OZS2HDIsd AL OIFHEEX 30,000
OSLHNs| A0t £ SXY ZHAL
2,000,000 *5JH & 10,000
OS22HOIZ2Y A 2A2E A X 15,000
O=ZH0Isd 2ot XIs0ld2 =+ 12,000
et AR ALY (KA 1,308,771 860,000 448 771
401 Al HI L £ 0HHI 1,308,771 860,000 448 771
01 Al& B 1,302,000 860,000 442 000
OXlots4 &Xl=2 HZ2HZ2 20,000
oY =0 =23 4| 30,000
B AZ ADY LIALT 20,000
Oga s S2AEA =2 3| 30,000
OOt &= == & H| 30,000
O 244 A BHe==2 & 4| 30,000
O22 =2 g4 =2 & H| 20,000
OR& pAL =2 FH| 25,000
Ot NE s L& 30,000
O 24 s s2 2 & 20,000
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2N
X ZH -
L= B

el

rag=R=p\ i
SHEXS Hg

soHEdasZ

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O =5 s22% 30,000
Oz 83 s22% 20,000
03 Al S THHI 6,771 0 6,771
OMLAREAMNE AIELUHI
1,302,000, 000& *0.52% 6,771
S EINL ALY 2,544,877 1,670,000 874,877
& 1,720,806
s 824,071
401 Al HIZ 201 Y| 2,544,877 1,670,000 874,877
& 1,720,806
s 824,071
01 A& HI 2,536,071 1,664,009 872,062
Os=sEMa s AT AL (L=2.3km) 2,446,000
& 1,712,000
= 734,000
OsEMEstE Y ALY (20128 22 H) 90,071
03 Al R THHI 8,806 5,991 2,815
Os=sEMa a3 T ALY (L=2.3km)
2,446,000,000& *0.36% 8,806
& 8,806
S Y0tE 2SI 384,200 4,200 380,000
< 190,000
[ia 194,200
d=0E == XA 380,000 0 380,000
< 190,000
s 190,000
401 Al HI K 201 I 300,000 0 300,000
< 150,000
s 150,000
01 A& tI 297,855 0 297,855
O2AYAS0IS SSIIBAELEAS 297,855
< 147,855
s 150,000
03 Al S THHI 2,145 0 2,145
O2LAE=0IS SSIIELAIE ALY 2,145
< 2,145
402 2I2H X201 M 80,000 0 80,000
< 40,000
s 40,000
01 RIZEAr=2 82 X 80,000 0 80,000
Od=0ts s=2MU=XA 40,000,000& 2= 80,000
< 40,000
[ia 40,000
H=0lE2 ZLEAMS 4,200 4,200 0
201 L2l 3,000 3,000 0
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PN AL ST
g sOHEXY HE

el 31 0ts S0l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 3,000 3,000 0
Od=02xd Al E2=2 & MM
3,000& *1,0000H 3,000
202 od4dl 1,200 1,200 0
01 = LH o4 1l 1,200 1,200 0
O#¥=E0t2x4d EFXIAA #XIor2
60,000 «2H 10 1,200
MIIESNHSD 2,719,600 2,804,286 A 84,686
& 1,904,000
< 51,000
e 764,600
HEZSALASEEHUIAY 882,900 1,764,286 A 881,386
& 618,000
s 264,900
401 Al HIZ 201 Y] 2,383 4,446 A2,063
& 2,383
03 AlE 2 THHI 2,383 4,446 A 2,063
OUE==SAASTSHIHAE 2,383
& 2,383
403 MtXISHHE X201 & 880,517 1,759,840 A 879,323
& 615,617
e 264,900
02 S| 2SO CHEHCHEH AL Bl 880,517 1,759,840 A 879,323
OUEZEAASI| 2HA AL H 880,517
& 615,617
i 264,900
SHMAAS ST ZH MY 1,445,700 1,040,000 405,700
& 1,012,000
[ia 433,700
401 AlEH 2 2 0hHl 4,481 4,586 105
2 4,481
03 Al 2 THHI 4,481 4,586 A 105
OSLMAASHEEIAE 4,481
= 4,481
403 XX SHAI S K= 0] & 1,441,219 1,035,414 405,805
& 1,007,519
s 433,700
02 3|25 0l CHShCH 2 At & HI 1,441,219 1,035,414 405,805
OSLAAAZ I 2 A HI 1,441,219
= 1,007,519
s 433,700
A2 XS A LAY 50,000 0 50,000
= 35,000
[ia 15,000
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2N
X ZH -
L= B

el

rag=R=p\ i
SHEXS Hg

AJIESNYLS)

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
307 glz2tol & 50,000 0 50,000
& 35,000
e 15,000
02 QItFAE XS 50,000 0 50,000
Ogaz XNgg 50,000
= 35,000
s 15,000
HO0IEEHAY SEFHAY 341,000 0 341,000
& 239,000
< 51,000
[ia 51,000
401 A& BIZ 201 8I 100,000 0 100,000
= 70,000
< 15,000
s 15,000
01 A& Bl 100,000 0 100,000
OdDIEAS SEZIHIAMY JI2HE 100,000
& 70,000
< 15,000
e 15,000
403 XSS A=0l& 241,000 0 241,000
& 169,000
= 36,000
s 36,000
02 S 2SOCHSHTHA 241,000 0 241,000
odsngad I 241,000
& 169,000
< 36,000
i 36,000
TC2Y = , 188,220 6,210,717 A 1,022,497
= 74,000
[ia , 114,220
TEETE AZ 360,000 1,145,000 A785,000
JIEt 2EAY 260,000 145,000 115,000
401 Al Bl 2B 260,000 145,000 115,000
01 A& HI 260,000 145,000 115,000
O=& EFEHISAH4D 35,000
o2& IAM2I((4) 70,000
OZ2& XHZ (5 30,000
O=&8s 4 otaz 30,000
OzZ& 1284 &= 15,000
O=2&1254d OtAZ 30,000
Oz=&14sd 513 50,000
EE~EEA2 T2 ALY 100,000 0 100,000
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EAREEAR= 3=\ I
Bu: c2y 5
Hel 222 ALY (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
401 AIEHI L 2CHYI 100,000 0 100,000
01 Al £ HI 100,000 0 100,000
OXA~T N T2 2 H 100,000
SHEZSHEZY ALY 811,000 1,925,000 A 1,114,000
et sO0E T2 ALY 811,000 485,000 326,000
401 AIEHI L 2 CHYI 811,000 485,000 326,000
01 AlZHI 811,000 485,000 326,000
OSHEZZRMRIISAM(N = 3.3km) 85,000
OsHETZZE UM (8 =M 14.3km) 30,000
OEF~AAHE 2 £ 2 ZH(L=0.25kn) 100,000
O22d+=HEZ ABZH SA 200,000
O=22 SScl S20tS U2 SAM 50,000
Ogd ddel sHERZ E+3A 30,000
OWM=1038 6 Z7 =SIH3 AHL=50m) 10,000
OZM3055d =7 FH(L=110m) 10,000
O8s 10454 OtAE IMNRI| ZHAY 296,000
CZusSotde ¥ 2 2,527,990 2,161,487 366,503
= 74,000
s 2,453,990
HelolEs2YHs 148,000 230,000 A82,000
= 74,000
s 74,000
401 AIEHI X 2CHYI 148,000 230,000 A 82,000
= 74,000
s 74,000
01 Al £ HI 148,000 230,000 A82,000
O o2& 7 ACCTVE XI AL 148,000
= 74,000
[a 74,000
CRA2el WY AL 176,432 113,122 63,310
206 =8l 176,432 113,122 63,310
01 M= Hl 176,432 113,122 63,310
Soflth X+ 142,200
—gszs 250,000& »500= 125,000
-2 o 11,000& »700m" 7,700
—NEEAS 160,000& 50 8,000
—HEES2H=0L 1503 %10, 00004 1,500
O&blss #¢ 4,072
—FLR0=012 28) 2,036%%200£ 108 4,072
Ofsle 7L (2. s0HEEZZ | E=)
10,0003 *1,500% 15,000
OJIEtRTH (& N2 HOE &) 1,000




M H e
HU HU iz

k)02 0k

>
=
=1

J

o
O

sompe 2 24

= =

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O 3Hl HENHPL(BIA BSEP TXIE
s) 3,500
OM&Zg Jdolgyg =Y 10,660
—JdoIdLg(22Y) 260,000& 414 10,660
|[Et =2 HHIAY 2,203,558 385,193
101 2124 d| 5,713 5,713
2R 22 ANSE 4 5,713 5,713
OHM&EXH 1hEEZ 2 M 2 AHH|
114,259& *50L 5,713
B2 A Y| 113,345 10,080
01 At 22l bl 28,950 4,700
OSJIssEsra 15,000& *300 X| 4,500
ON&xY 9 c224 S|
7,000 7 x50 2,450
OH&E&d & SI=728H Xz 22,000
—Bs2(0.2mz JI=) 440,000) x25 11,000
—HITEH(1E J|=F) 440,000 x25! 11,000
02 352494l 84,395 5,380
03322 2 MA 12,010
- Asi B8 3,850
15E HE 32 (2TH) 1,000, 000& =2CH 2,000
8E U&= (10H) 600
- ASS S (1) 500
-HESEH) 500
-2 APD(1TH) 250
—MEXM &0 L 22|A 720
HdIIANE S 50,000& x12& 600
METAIES 10,000 x12& 120
—0EolEE3RY CCTVREe3(stn & 9
A 310H) 7,440
SHMIIANES 300,000& 12& 3,600
- OHuUlg d = 320,000& x12& 3,840
OAl& &Yl KXYl 10,000
—dsZ2d 1,000, 000& = 1CH 1,000
— 2B =D JIAHS , S E 22D 1,000
— DO F D HEFZY 1,000
— HAEZH (HED3,4ED3,08I[1) 6,000
— H&EXHED L 22/AF S| 1,000
OR+ & Hl 60,724
— &3 2 (30h) 38,000
— AESI2(1) 3,315,000& = 1CH 3,315
—dHEEs=2010) 3,909,000& = 1CH 3,909
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SAN: AL
My C2o sz
o9l CRUSoEBE Y P4 (el:de)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
— = A 15,500, 000& *1CH 15,500
O & dl 1,661
— HEXH 2elAb Hegte 2l
1,384& x1,2004 1,661
203 ¥R =&H| 2,000 2,000 0
03 A =X R =XH| 2,000 2,000 0
ORUAIYE2 U Dy AHAS 53 S 2,000
305 HiAa=2S 20,000 50,000 A 30,000
01 HA=2S 20,000 50,000 A 30,000
QUEAMND FAZ2(2H) 20,000
401 Al B 20 HI 2,062,500 1,537,500 525,000
01 Al& H| 2,062,500 1,537,500 525,000
OEMSUUIAIEZ(BIHCA) 30,000
OAMEIESEHI (B H) 20,000
02 L SsHEE2 ALES (3500 A) 100,000
Os2 2 TM(300HA) 30,000
OLs TZ2HHFAILE DH(ZHIEXEES) 20,000
O EXT &X (100 A) 7,500
OZZ2STE SAH (0IE22X)
2,000,000& *x25& X| 50,000
O3 (W==2)&3dl (6 o) 30,000
OSSN E X L 2B4(3000A) 30,000
Oz AXI(11HA) 15,000, 000& *6IH A 90,000
OxL24H gssetel AXI(BM& 2km) 200,000
O&g9H ZEX BAYX =s3AIE 50,000
OHASZLHE SH-AZUHE &X 10,000
OFAID &Y OtAZEZE L JIEY LA 30,000
OMAMKAE X2 & JEtEx 60,000
OMolAE T2 A A H| 80,000
oonrgdgz & 4 A2 50,000
OAFRR &2 HEAY 40,000
OnNsSALD | F2 &bl 50,000
OnEZ =2 FHIBA 20,000
OUAECZ SYEXN &L s SEZESA 40,000
Od4de =2 HHIS3A 35,000
OHS2l 2A0I2 28 X SAl 40,000
O&ESs0ES XY SHIXHZA 50,000
O&E2 =2 FHISAt 20,000
Os=32 8Y EX3A 10,000
O%=x2| =2 HUISA 20,000
OUE & s ZHZ2A 20,000
OodtE0tS =2 &Hl & 2&F o LEAZA 18,000




SH: ALY
M cRY HE
o9 CRDSAEdE o 24 (el @2)

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Og10tE Y2 0tAZE IR LTS At 30,000
OGtAISEl AISOIE sZ2EEH B A} 20,000
Ottd2el S80S ot HHISA 20,000
OXl0tel Bi==Z ZFHISA 15,000
OZF=2c 3 2td FHISAM 20,000
Odgtel AtelRE S A 10,000
OFE3cl s2 ZHIA 30,000
OO0t BHEA &2 ZHBA 20,000
OztdEel &3itte &2 ZEHIA 30,000
O Ec =2 HHIZA 20,000
Odgel =72 Fdl3A 30,000
Os8d s22E & =2 FHISA 15,000
Osgel &2 XTI 45,000
Ogttzel s2 LTS At 20,000
OU=Eal == ZHISA 40,000
owetel 2F AXIZA 40,000
OLsisS etz Ex=3 A 20,000
Osdel &2 ZEIA 15,000
Oadlel =2 HHIZA 15,000
O=24cd s2EE 2 =2 FHISA 22,000
Od220r2 et& EZIH I A 15,000
Odld2el Bi+=2 HHISA 15,000
OFMOIE =2 ZHSA 156,000
O=&4el =2 ZEEA 20,000
O=2432 =2 ZHSA 156,000
OaEiS Y2 ZHIA 30,000
OJXiots ¢zZ=d 30,000
OUor &tel2l 1A ZE 30,000
Odatiel 82 E3 At 10,000
Ot 1el otax8d I ZF 30,000
O«&ofel etz &l 25,000
Owatel &g 4X 20,000
OototE etz Al 30,000
OLiHel FEE=Z HEZA 50,000

A 239,230

A48 29 22,626

201 et 7,626

01 AL 2l 6,380

OBt 4,280
—HEIHSGEH BT (SHA X 2A4E)

150& 15, 0000H 2,250
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Ogtzel DHEIEZY B 10,000
Oszel s2 & dY2 I H 20,000
O&giel SLAY=Z 0tA2 IH R 15,000
O8del s2 =& 15,000
OXte] s2 =& 30,000
O&fAtzel o+d L 30,000
Os322 th== &l 25,000
OdMe s2 Z& 25,000
O=dtel s2 =& 20,000
ORESN7 =2 £F 30,000
ogt=el 2ug 4X 30,000
OU&AIOl OtIIE SEAX 20,000
ogrge| =& 30,000
o8 == FHl 20,000
OZE =2 &l 20,000
ORE Hi==2 FHl 20,000
Og4d th==2 &l 30,000
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Od4otE 28 &X 11,000
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Ost&Eel &stii=2 &l 15,000
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= 3,551,000
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02 22l 254,350 254,350
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2 127,175
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= 7.600
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=2 2,561,350
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= 1,355,706

5HE B HI ALY 2,527,706 2,527,706
= 1,172,000
= 1,355,706
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01 Al&H 610,000 610,000
Odt& Al & 2l 10,000,0008! » 5§ A 50,000
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[ia 4,200
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